TROTEE  NHMRRR

iz NmEy HERRS ELIENES B BB 1B 8 BB
122084 TR [ 71 S StEHEKXIEE 1,800,000 2P o HSRATER i i 4
2
IREHIKX I EE 1,800,000 FTELEEE (KFEdzaE38, ) nf 17,454
I 2% = I 3 K)\D b2 /N> =
EREASIKSHAD (H28.1.1570) 155,205 A s i e 0 BEAS 7 0
RIS ox REHK XIS EE 0 ElE 6
(DBEFKICHDNDED) |E§ﬁ€
IRTEHEKAD v o
s K G A ADBED) 0 SRS 18
- - S = BRI 0 o8 .
= (5BBKCHNDED) & BT 4
i 1,076,195 REBRAD 0 B 3
B TKBE | R ke ;?’j;f;’g;%”; PR - DR
[ 5,636,169 SRR 0 SITRSH 14
AR T 195 HEHKAD 0 ST 11
,@__ {ﬂ 5 g“ (DBEFBKICHNDED) N A
2} o . S BEKIER AR DR . N=S: — "
#3F0 (3BBKCHNZED) =
N\ far:
sE% BRI II 1,931,023 kAT 0 Tt 4
|i& RIBESEEKNIRES = ?ﬁibi&ﬁﬁ@ﬁ BES
Zoft 0 liﬁiﬁmlcb\b\ésfb)ﬁ 0 SEBRN 49
N P 498 O35+« ISV RREBAD 0 ETES 1
EES | sppepe == 498 SHMES(CEMEAD zowp |FOE =
& el 18,907 BRI e SIBaH 4
REIER (HERD 19,018 | HEIAIZHESR BT 10 Bl 4
- BB - EN=V:
WEIER (FRETF) 0 SE — BB ISHAS TIHESR | &P 0.0 SIBaEM 16
nEAD el I i P B 0 R 1
L/}i EF?%A”&%E 1B . S P Bﬁtﬂﬂ}itﬁ .
ez SiGINES 4,892 BB 7SS 1IMEER | BETE 0.0 SIHEMN 0
NS HEES ‘
g | EAC 155,134 s, | PONIER | 1 & &P 1
L.aj‘ EF?%QHQ%E ) R—2I - S P i]’i*t’/ﬁ .
FitINES 34,363 —BiEISAES IR | &P 0.0 SIS 0
—_— BT 0 = gy |ToRIEEE | BT IIAE BT 1 5 BT 4
B 5K n A =
— RS o [B®  h-n  |—mmmeses s 0.0 SEBES 0
EIKEE [#62kA0
Bk ERE 0 gme s | DOIIIHE R 0 FREtVY— BT 2
fﬁfﬁﬁﬁ'@?% —EERESE R—LA T I YA T HEEN | A TR fope = = ey
LEHASE 0 —EPEISMASTIEER | &P T 0.0 SFEDXR BT 0
REHKAD 100,384 p— RERR | hEIAYIziEs B (T 0 BROR BIEBEY 0
SEMER
STEHKEEETE 21,640,000 SiEess | ThEIA YL e AT 0 . [EZE 161
— - TS — — — — ERNER
REHKR AT 17,093,300 h HPHME | HENIIE EIZE= T 3 L@ 10,209
Eolasl Bl _ _
SHEERARIRY 0 5?6 Ciem | MEIAIIZNERR R T 0 & ity CtofEDd 2,301,110
1TERES
TKEE | RHETKE RERFIMERH | (7 0 - 2y GEEE) 380,771
NREHE
BB EE 21,640,000 Tith (it 97,816
TEME
IREAMER I ETR 17,093,300 - 2 GEERE) 2,572
REMEREAAD 100,384 = TIHFRRES T (i) 13,466
2E
IR HEFEEHAD 91,837 ZDMOES T (D 2,822




